Computer Science — Second Year Question Paper

Attempt any 5-(1-6)->1-marks=1*5 (Objective type questions)

is the operator used for dynamic memory de-allocation.
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is the object-oriented concept that binds together the data and function.
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tag is used to create a link in HTML.
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. The key word used to declare variable in JavaScript is
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. The person who is responsible for the control of the centralised and shared Data Base
is the
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. The computing technology in which a problem is broken into pieces and solved concurrently
is called
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Attempt any 9 from the following (7-18) = 2 — marks=2*9 =18

. Write any 2 differences between an array and structure.
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8. What is inheritance?
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9. Write the structure of a node in linked list.
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. What is a script?
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. List any 4 text formatting tags.
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. Write about string addition operator in JavaScript with an example.
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. What are the different data types in JavaScript?
JavaScript-0al QL { @ 'O WIQ MEBBUD afJOMIOSHDIEM ?

. What is responsive web designing?
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. Which are the 2 levels in data independence?
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. Compare char and varchar.

What are the types of interactions in e-governance?
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. What is infringement?
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[11.  Attempt any 9 from the following (19-29) - 3 — marks=3*9=27

19. Explain nested structure with an example
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20. Write an algorithm for push operation
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21. Differentiate between client-side scripting an s server side scripting
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. Write the HTML document to the following table.
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Year 2022-2023
Smokers 412

Pan users 159

Other Categories 280

. What is img tag. What are its attributes?
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. Explain Built in functions in JavaScript
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. Explain different types of web hosting.
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. Write the advantages of DBMS.
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27. Explain the following
a) Tuple
b) Cardinality
c) Relation
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. Explain different types of arrays in PHP.
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. What are the applications of robotics?
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IV. Attempt both the questions (30, 31) - 5 — marks=2*5=10

30. A) Write an example for an empty tag. 2> (1)
B) Write the structure of an HTML document. )
C) Write the use of marquee tag and its attributes. > (2)
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31. a) What are the different aggregate functions in SQL. =>(3)
b) What is a view in SQL. 2>(2)
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